Biochemistry: (35 Questions)

Monomer/Polymer

27. Compare and Contrast monomers and polymers,
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28. Fill in the table below regarding macromolecules.

Macromolecule

Uses/Function
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Carbohydrates

29. What three elements do all carbohydrates contain?
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30. What is the relationship between O and H in Carbohydrates?
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31. Fill in the table below regarding polysaccharides.

Polysaccharide Examples Is it found in Plant or Animal? Can Human'’s Digest this?
(Circle One) (Circle One) '
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32. What are the two components of a lipid? ¢j|(4 2¢O \ * D Qﬁ\HK‘] QcidS
33. Fill in the table below regarding types of fats. '

Type of Fat Amount of Found in Plants of Solid or Liquid Healthier or Unhealthy
Hydrogen (H) | Animals (Circle One) (Circle One)
(Circle One) (Circle One)

Saturated (fo_ts\g)r Little Plants 0 (@or Liquid Healthier of Unhealth\y
Unsaturated Lots or @ (@r Animals Solid @C Healthier op Unhealthy

34. Describe several, 2 or more, functions of lipids in the body.
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Proteins and Enzymes

35. How many total amino acids are there? 7/ ()
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36. How do you get so many proteins from so few amino acids? C \n & 0 Has ovder ©
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37. What bond forms between amino acids and links them together? ~
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38. In the chemical equation below, label the reactants and products.

CsH1206+ 029 CO, + H>0
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39. Fill in the table below regarding definitions of the following terms.

Term Definition
Enzyme cotal\ysvs of yppction s (Q royern s Hhat
speed LP  reqctions)
Substrate a oL (roactany) Yhatr bondS

0 an enN¥yme .

Lock and Key e woay of descriking Hae special Yunigue

{ Huueen ‘ ] .
B BSOS Y L3 s BRasH ek @gcf

Activation Site | Reaion o Mo o1 gyme whure AL [([onia
suvstratt pindS and 4w reacficen g

Activation Energy [€nOv9Y nypeded o SsYtard ot rececds
(N¥yres lower +his)

40. Explain the difference in activation energy between the reaction with the enzyme and without the enzyme.
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A. What causes this difference?

41. Label where substrate, enzyme, product(s), reactant, lock and key fit, and active site are on the following
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Use the graphs to the right to answer the following F——
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43. What is the temperature required for maximum enzyme g :0 e
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44. What will happen to the enzyme’s effectiveness if the o
solution is heated to 55°C? il _ "
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45, What is the pH needed for maximum enzyme effectiveness? / kY

46. What will happen t'o the enzyme’s effectiveness if the
solution is made very acidic? ;
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47. Label the three building blocks of a nucleotide on the e
diagram below.
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48. Where is DNA found? nLCULLS ik .
49. Describe the function of nucleic acids? DY (L , Cop\u W\’d TN S W OA’DVLQ:{-’\L
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50. What are 3 differences between RNA and DNA molecules?
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51. What is a base pair?

A set () of nitogen bases that  bond Je

52, List the base pairs for DNA and RNA.
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Chapter 7: Cells and Their Components (27 Questions)

53. What are the three principles with the cell theory?
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54. Compare and contrast prokaryote and eukaryote cells.
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55. Compare and contrast animal and plant cells.
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56. Fill in the table below regarding feedback.

Type of _ Definition
Feedback

Example

Diagram/Graph
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57. Fill in the table below regarding the function of cell parts and their presence in plant and/or animal cells.
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Organelle Function/Purpose in the cell Is it found in plant cells,
animal cells, or both
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58. What is homeostasis? |l e al
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59. Compare and Contrast passwe and active transport

60. Fill in the table below regarding types of transport.

Type of Transport Movement Type Types of Molecules Does if require energy?
(High to Low or Moving (Yes or No)
Low to High) (examples)
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61. Fill in the table below regarding solutions created by osmosis.
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Solution Type Definition (Include water movement) Drawing
(Into the cell, Out of the cell, Both) (Before and After)
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62. When does water stop moving across a membrane? ”_LU ér 3 u/aJ_(/l/ c{,(,Wa,q\S
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63. What direction would the sugar particles (large circles) move if active transport was at work?
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64. Using the diagram above, explain the direction the water molecules, small circles, pictured would move
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65. If passive transport was occurring, draw how water would move across the cell membrane in the picture
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below. Explain why this occurs.
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66. What type of solution would be produced in the diagram below. Explain why.
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